Timpiste so Chlos

( sa chlos Chonaic Aoine nead suas sa chrann

An o bhi ann. Bhi na pdsti
Bhi nead . Bhi &nini beoga so

Timmi on neod. Suos le Timmi, suos, suas,

(Clmdgh oqg cocineadh Ghlacigh thit mdinteoir otharcharr Rith

Go tobann, Timmi. Thosaigh sé
Sadhbh go dti an
an muinteoir ar on ospidéal, Thainig

Timmi go dti on t-ospidéol

5—



Monday

Whaot time is in?

10 ‘
. %Of 6=

8x2=__

. 805c=€
1244 -

. 250m plus 450m =

. Which rectongle hos the (b)

largest area?

(a)

. 4148

. Arrange these numbers in order of
size, storting with the largest:
462, 624, 642, 246

,25+4=
N34 L) b=

. There are 46 apples in o box.
How mony opples are

in 5 boxes? ]

. By how many centimetres is
&m 37cm less than Sm?
. A paint tray holds 6 pots.

Lucy filled as mony troys os she
could with 33 pots.

How mony pots were left?

16. | have €5, €2 ond 20c
How much more do | need
to buy the bell?

Tuesday

, Bx5«

. Share 28 pencils among 4 children.
2B+4=

.gof32=_
. 130, 135, 140,

. 3)28
R

7. % < % True or folse?

- e €1
. Whot froctu;n of the =5 15 1o %
cars are red?

. What month is 14/07/2015?

10. 350mi +350ml + =1 liree

1. 6x =48

12.2xB=16%016+2=
8x2=16%016+8=__

Admission to the 200 Adels: €16 Child. €12
Family tickets: 2 odults + 2 children €47

2 adales + 3 Mideen €5150

2 odults 4 & cMidven €5550

13. How much would it cost for 1 adult
and 2 chidren to go to the 2007
How much would each of these sove by

buying o fomily ticket instead of paying

separctely?

14. A fomily of 2 odults and
2 children:

15. A fomily of 2 odults and
3 chitdren:

16. A fomily of 2 adults and
4 chitdren:




Wednesday | Thursday

. How much? + Draw a line £
of symmetry. =5, 0
@@@@Q . .04 = & True or folse?
, OX4m —_ &% 10 o
. What time is Eﬁ)m analogue . 298cm =

form? w0

— f htwu
. Which set of lines © 300
is poralle? b

C

. . How many corners
- 0 of50="___ has a pyromid?

. What is the volue of the 7.8x6=485048 +8=
underlined digit: 4567 ExBuiBsokd +bm
. 120 minutes = ___ hours . How many days in February
47 in o leop yeor?
x 5 2 x15=(2Sx10)+(25x
22+ 7=00R
2B+7= R L ox =54

. Fill in the correct sign (<, > ar =) . %‘ of a number is 9
J,g * Whet is the number?
1 S——

b umes 6) ¢ 24 =

. 250mi less thon {-l =

. Séamus 18 1m 4bem in height. He 13
23cm smaoller thon his friend Ciordn.
How tall % Ciardn? |

. There ore 45 sheep in o field. ‘1mwno?mocmmgmm
How many legs are there altogether squares
in the field? 14. What is the difference in area

. Summer holidoys lost for 63 days, bm«::;emww
How many weeks does it lost? flower

. There ore 24 childeen In o closs 15. Whet is the total area of the patio

¥ of them have apples, T of them SRRy O.__
have oranges and the rest of the 16. Whot area of the garden is not
class have pears. How many children covered with the potio, flower bed or

have pears? play area?




The Chocolate Room ‘
s

O wWorking with Sounds: More Suffixes

Remember: A suffixis a letter or group of letters that are added at the end of 3
word, eg. -ing  -less  -ness ly ful -ed -er -y

In your copybook, add suffixes to these words to make new words.

(a) open (b) dumbfound (& kind (d) faith
(e) bewidder {h hand (g stand (h) proper
) slow () Invent (k) sad (0 use
(m) thank (n) walk (0} boil {p) care
(g} huge () shout (s} wonder () whisper

G Grammar: Pronouns

A pronoun takes the place of 2 noun, e.g. |, you, he, she, we, they, it.

1. Underline the pronouns in the following sentences.
{3} He opened the door into the Chocolate Room
(b) They were looking down upon a lovely valley.
{c) 11old you | hated ugliness.
{d) "Do you like my trees? he asked.
{e) She looked over the valley and saw the Dompa Loompas

7. Rewrite these sentences by adding suitable pronouns to the
underlined words.
{a) Mr Wonka went in the door and Mr Yonka invited everyone in,
{b) Veruca started screaming and Yeruca started pointing.
ic) The children ate the grass and the children ate the buttercups.
{d) Augustus Gloop took a big handful and Aygustus began to eat.
{(e) The adults pushed their way in,

(@ Extension Ideas

Watch the film of Charlie and the Chocolate Factory. What are the differences
that you see between the film and the book? In what ways are they similar?

@ Writing Genre: Procedural Writing - See Portfolio Page 93 e*"' L%
Write the step-by-step procedure for: How to Make Chocolate Brownies. w° :

I
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Halves, quarters, eighths

1. Complete these.
(@) Holf of o set equols 7. The whole set equols
(b) A quorter of a set equals 6. The whole set equals
(¢) Oneeighth of a set equols 5. The whole set equols
2. (o) hotfof 18 = i(b) hatf of 24 = i{c) holf of 60 =
(d) oquorter of 2B = ____ 2(0) oquorterof 36= §cn o quorter of 48 =
(g) oneeighth of 32 = i (h) oneeighth of 56 = ___ i(i) oneeighth of 72=
3. Fill in the missing fractions on these fraction charts,
(@) : (b)
1 unit * I
|
1 unit
4. Use the fraction charts to help you complete these. Write each of these groups
of fractions in ordcr, smrting with the smallest.
w4 Ll AU §(<)2.;.; §(d)’”
: : N
ABE | BEE | BEB| HAA
5. (o) i (b)
4¢ m =g -0, Q ,
3 halves =5 , 5 quarters =+ o nine-eighths =
6. (o) 9 halves = or : () 11 halves = ar
(e) 13 quarters = or i (d) 17 quorters = or
(€) 11 eighths = or i (0 15 eighths = or
7. Write os units by dividing the top number by the number under the line.

@R=___ WP i@f= @ P= i@



Tenths

Each of these
Thucmlom(-alnounn.

R EIE

is divided Into 10 equal parts, Each part is colled one-tenth or

1. What fraction of each of these shapes is coloured (1) red; (1) yellow?

(o)

o -

: (€)

——
(0 red (i) red () red
) yellow ___ () yellow () yellow __
2. Colour the correct fraction of each of these shapes.
(0) i () )

®

®

®

AA‘AA A[AAAA A This set of triangles is divided into

AAAAA%AAAA

10 equol amounts. What fraction of

AAAAlAAAAAA the set is coloured?

4. Divide each set into 10 equol amounts.

O "AAAAAARNAE

1’6 of the se1 =

(e)

—,ono- m Lof 10 =

~dw-wdkawdw-h,%mldm-_

.......................................................................................................

(g) 5 0f 30 = m;léomo.




Bl Pizza and things

Pizza Place has just two big tables. If 7 people can sit around
each table, how many people can be seated altogether?

Chicken N Chips also has
two big tables. If 16 people
altogether are seated,

how many people are at
each table?

httn-/Insmathe ra ne/nrnhlam_enhiing

I More pizza and things

Pizza Place has three tables of the same size. The Chicken
N Chips bar has four of the same tables and can seat 24
people altogether. How many people can Pizza Place seat?

One third of the seats at Chicken
N Chips are empty and a half of
the places at Pizza Place

are empty.

If 18 more people want to eat
out, is there room for them at

the two restaurants?

httn://nzmaths_ca.nz/nroblem-snlvine




Il Even more pizza and things

The pizza place has three tables. The biggest one seats three
times as many people as the smallest one. The middle sized
table seats twice as many people as the smallest one.

On Tuesday night three-quarters of the seats were taken.

Then twelve more people arrived. Unfortunately there were
only enough seats for half of them.

How many people can sit at
the smallest table?

http://nzmaths.co.nz/problem-solving



